Maths (CH-7)
Word problems

Q-1 shopkeepers sold 325 packets of chips in the month of
January and 452 packets of chips in the month of February. How
many packets of chips were sold in Two months?
Answer- In the month of January packets = 325 packets
In the month of February = 452 packets
325
+452

Total number of packets 777

Q-2. Tina spent 495 rupees in the Diwali mela where Maya spent 387
rupees . To find the total amount spent by them all together?
Answer- Tina spent= 495 rupees
Maya spent = 387 rupees
495
+387

8 8 2 total rupees

Q-3 . Shopkeeper bought 812 eggs . He sold 563 eggs out of them.
How many eggs are still left to be sold?
Answer- shopkeeper bought= 812 eggs
He sold = 563 eggs
812
- 563

2 4 9 Number of eggs are still left to be sold
Q -4. In a train there are 742 passengers. 353 passengers were
children. How many passengers were adults?

Answer- Number of passengers=7 4 2
number of children's= 353

389






